Newington College Yr 11 Extension Mathematics 2012 Assessment 1

Question1 (12 Marks)

@) Factorise
Q) y* —125

(i) 1-x=x2+x°

(b)  Solve 2x*=7x-5

(©) Solve x? +2x—5=0 by completing the square. Give your answers correct

to two decimal places.

Question 2 (12 Marks)  Start a new page

@) Solve for x: 3x? +6x—7 =0, Leave your answer in simplest surd form.

(b) Simplify
. X+2 x-2
1 [ —
® X—2 X+2
. 2X—-Yy
ii _—
(1) yZ —xy —2x°

(©) The perimeter of a rectangle is 40 cm and its area is 84 cm?.
() If the width of the rectangle is x, express the length in terms of x.
(i)  Write down the area of the rectangle in terms of x.
(iii))  Form a quadratic equation in x and solve it to find the length and width
of the rectangle.
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Question 3

(@)

(b)

(©)

(d)

Question 4

(@)

(b)

(12 Marks)  Start a new page

x*—2x-3 4x> - 25

Simpli .
implity 2% —3x—5 " (x—3)2x+5)

Simplify 2./8-4/18.

J3-4

If
2+./3

—a+b+/3, findaandb.

Find the domain and range of
M f=@+xf-1

i) f(x)=-v9-x

(12 Marks)  Start a new page

Draw a neat sketch of each of the graphs below.

. 1
H y==.
X
(i) = LB — 2. State the y — intercept and the equation of each asymptote.
X+

Find the simultaneous solution for the following equations:

x* +y* =1681and xy =360

End of Paper
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